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(4% 6) x 2 = 48(7H)
1 x 48 = 48(cm?)
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(5-3]) = 108 x 8 = 864( cm®)
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1 m3= 1000000 cm?
2m? = 2000000 cm3
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(A&PA ) 23))= (712) x (A=) x (&°I),
wHbA] 9 x 5 x 7 = 315( cm?)
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(AgAA o) 2a) = (7h2) x (M2) x (E°)
=5x11x6 = 330(cm?)
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(F1)=11x 11 x 11 = 1331(cm?)
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O 7F=2 5cm, A2 5cem, 0] 5em ¢ ASHA
@ 7F2 9cm, A2 4cm, =°] 3cm QA ASHA
@7}1?._ 5.5cm, A2 6cm, =°] 4cm Q] 2-EHA
@ 7I2 4cm, A2 4cm, =°] 6cm Q 2S5 HA

® 712 12cm, A2 3cm, =°] 2.5cm Sl A-SHA
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@D 5x5x5=125(cm?)
@ 9x4x3=108(cm?)
® 5.5%x 6 x4 =132(cm?)
@ 4x4x6=096(cm?)
® 12x3x2.5=90(cm?)
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@ 5.3m?

® 900000 cm® = 0.9 m?
@12x1.2%x12=1.728m?
®1%x05x2=1m?
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5x6)+ (4x6)} x 2 =148(cm?)
olof] Zylol= HH ol 2ulRt o Fulo]E TIshA
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(Z&wA o] 2ylol) = (3 He] Wol)x6
(16 x 16) x 6 = 1536( cm?)
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(9-4)x5=6%5x5=150( cm?)
Ba) = 720 - 150 = 570( cm®)
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(1) (2 o])=5x 3 = 15(cm?)

(2) (8= (3+5+3+5) x5 =80(cm?)
(3) (BHol)= (BHol)x2+ (F4H°l)
=15x2+ 80 = 110(cm?)
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=(7Tx6)x24+ (7T+6+746)
=844 234

= 318(cm?)
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(BHol) = (B4ol) x2+ (dHel)
=(8x4)x24+(8+4+8+4)x4
=64 + 96 = 160( cm?)
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(Tx3)x2+ (T+3+7+3)x[_|=162

42 +20x[_]=162

20x[_]=120

[]=6(cm)
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(A 9] Zol7t 2em?] H-SHA Q] F )
=2x2x2=8(cm?)

(BAE 9] Zol7t 6em?] HSHA ] F o)
=6x6x6=216(cm?)

= 216 + 8 = 27(HH)
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(ASsHA L] 24 ol)

= (5x5)x24+(5+5+5+5)x7

= 50+ 20 X 7 = 50 + 140 = 190( cm?)




